COSMOSWorks Evaluation        NAME _______________

Chapt. #1, Exercise 2 (Indeterminate Beam)
Deliverables:

a) Classical equation determination of:

· Bending stress on top of beam
      (5) ____

· Bending stress at centroidal axis
      (5) ____

· Bending stress on bottom

      (5) ____

· Shear due to bending on top of beam
      (5) ____

· Shear due to bending at centroidal axis
      (5) ____

· Shear due to bending on bottom
      (5) ____ 

b) Stress contour plot of bending stress throughout

     the beam using the appropriate stress      
     (5) ____

c) Probe graph of bending stress variation from
     top to bottom of beam at section A-A
    (5) ____

· Percent difference between bending stress computed using classical equations and the FEA solution at top, middle, and bottom of the beam.



   (1) ____

d) Probe graph of the appropriate shear stress τ due to bending across the front face of beam at section A-A.
  (5) ____

· Percent difference between τ values computed using classical equations and FEA results at the centroidal axis.



  (1) ____


a’) Classical equation determination of:

· Bending stress on top of beam
(5) ____

· Bending stress at centroidal axis
   (5) ____

· Bending stress on bottom

   (5) ____

· Shear due to bending on top of beam  
   (5) ____

· Shear due to bending at centroidal axis
   (5) ____

· Shear due to bending on bottom
   (5) ____ 

b’) Stress contour plot of bending stress throughout

     the beam using the appropriate stress      
  (5) ____

c’) Probe graph of bending stress variation from

     top to bottom of beam at section A-A
  (5) ____

· Percent difference between bending stress computed using classical equations and the FEA solution at top, middle, and bottom of the beam.



  (1) ____

d’) Probe graph of the appropriate shear stress τ due to bending across the front face of beam at section A-A.
   (5) ____

· Percent difference between τ values computed using classical equations and FEA results at the neutral axis.






   (1) ____

g) Description of best boundary condition.
   (6) ____




        TOTAL   ____/100

          



Results below for modified restraint at roller.








